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[ Total Marks: 100

N.B.: (1) Q.No.1 andQ.No.10 are compulsory.
(2) Attemptany two questions fromeach section.
(3) Overall Six questions attempt.
(4) Both the sections should be written in the sanamswer book.

(5) Use of calculator is allowed. Each step of thecalculation should

be clearly written in th@answer book.
(6) Figuresto theright indicatefull marks.
(7) Graph papers will be provided.

SECTION - |

scorer reliability method.

(b) DescribeTAT in detail.

DefineTest validity Discuss in detail content validity
What is ItemAnalysis? Explain Quantitative Itefmalysis.
(a) Discuss of Stanford Binet Intelligence Scale=slition.

SECTION - |

(@) Compare Histogram & Polygon.

(b) Arrange the following scores into frequency distribution table.

68, 94, 98, 99, 80,
40, 46, 30, 45, 50,
78, 79, 80, 89, 96,
58, 60, 63, 69, 73,

83, 36, 30,
54, 49, 48,
94, 90, 70,
76, 77, 70,
N =40

(c) Plot a Polygon for the above distribution.

1.
assessment.
2.
3.
4.
5.
6.
37, 86,
38, 33,
87, 76,
54, 57,
7.

(a) Evaluate median as a measure of Cefigatlency

(b) Calculate mean, median & mode for the following distribution :

Cl

90-99

80-8¢

70-7¢

) 60-6

9 50-39 40-49 30:39 20429
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13 10 6 4

N =60
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8. (a) What are the merits & limitations of QD.
(b) Calculate Quartile Deviation for the following distribution :
Cl f
87-89
84-86
81-83
78-80
75-77
72-74
69-71
66-68
63-65
60-62

DN O|INOO|OT &~ |W

N

N =57
(c) Calculate P, and PR of 68 for the above data.

9. Write short notegany four) :
Skewness.

Stanine.

Kurtosis.

Probability

“T' Score.

Nature of Normal Curve.

o0k wNE

10.(a) Describe the different types of Correlation.
(b) Calculate the Rank Order Correlation for the following set of scores.

X Y
30 76
86 93
36 56
92 52
80 90
76 59
50 50
39 93
68 68
70 73

(c) Interpret théAnswer
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() SAf@ TATIehT Uk fIWTTIqd wRivTadl g Sve Grgal.
(3) URUI A YA GrEdl.
(¥) ad fawm v STutEeha fogmeq.
(4) TS ORI ITIRUITE ] WA 3718, TUTC iUl Jcsh Uil Tosequr forar.
(&) ITAhEIa 37eh TRATE TUT gRioard.
(o) STTERE SHFTE YRIAUATA AT

& (31) Uit o e ard gem .
(9) @Tefiel eI ITHIhIgR IRATar fauTee awh aam) &

fawm - ¢
AT & YA Ron= STl 1. oA HERoTd J0m= ST -aar= == .

et forvareTgae oo TIse . e favarrgar sTfor ufteres faria fervamaTa=N == .
STl S ST Tl T A i) == .
HCeh [oReTNUT TEUTS hiF ? TUITcHeh B¢ faeiaul forerg .

Y. (37) EABE forl e wee= == .
(&) TAT Hfaer faee .
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(TFITT : R00

39, (&, &¢, R¥, R¢, R, <o, (3, 3%, 30,
3¢, 33, Yo, ¥&, 30, ¥4, Lo, LY, ¥R, ¥,
o, W&, WC¢, LR, (o, <R, RE&, RY, Ro, o,
WY, 4s, 4¢, &0, &3, &%, LI, LE, UL, o,
T = ¥o
() o feraroTr=n qifenTia e,
. (37) <hisT Jaci=a HeATh YeawTa .

(9) Wreftet fauorr=n qed, geieh, S8 Hel -
areark (Cl) | R0-R%| ¢o-¢R[ o-1R | §o-§R| 4o-u’ | ¥o-¥R 30-3%[0-3%
At (f) 3 W ¢ % 23 %0 & ¥

T = g0

TURN OVER

8¢

&

&

&

(4
(4

03
go

03

03
83



Q.P. Code: 25927

4
¢. (31) QD %rEe ST HATeT hivTea ? 03
(9) @refia faaman w2 foee #mer : 0]
wwiw (Cl) | awatan (f)
9—-¢R 3
[AGTA ¥
IASTIA 4
W¢-¢o g
W4 -l ©
[CEECY'S R
83162 ¢
&&-&¢ ()
&§3-84 &
£0-63 2
W = e
(%) e faqumen P 37ifor €¢ =1 PRI 0%
. Wiedaeh feur forgr (ShvTeardl =m) : 28
Y. TR, . WA
3. HNyE. ¥. HHTeI.
4. 2 TUT. & W TR .
%0.(37) HeHey™ fafae TR Tse . 0%
(9) Wefid gemdiel dgaes g 2ol 3Tt qegdi el : 23
g q
30 e,
1A R3
3 uE
’3 YR
(o Ro
o8, ug
Yo 4o
% 23
&¢ &<
9o V3

(%) TEHagTET Y T H. 0%




